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Arranged by Chet Atkins (1924-2001)

1/13

= 145

Standard tuning

1

0 1 3

3

3
1
0
2

3 0

0

1
1
0

1
1
0

3

1

0
3
2
3

3

5

1

2

2
0 0

0
3

3

0 3
7

0

0
0
0

5
0
0
0

7 3

3

1
0
2

1
0
2

3
2

0
0
0

2

1

10

3

3

3
1
0
2

3 0

2

1
1

3

3

0
3
2

3
5
4

2

5 5



2/13

14

0
3

3

0
0 1 0

3

0
3

0 3 1

3

0
2 2

0
0
0

17

= 150

(0)
(0)
(0)

3
0 2

0

3

0
2

0
2

4
0

2

0
2

0
2

4
0

0

1

2
0 2

2

21

0

3
2 2

3

3

4
3

4
3

3

0

2
0

2
0

3
3

0

7
0
0
0

5 3

3

5

4
3

3

26

0

3

1
0
2

1
0
2

3 (3)

2

1
0
2

1
0
2

0

0

3 1
0 2 0

3
2 2

3

0

7
0
0
0

5



3/13

31

= 125= 100 = 190
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= 180= 125= 110= 85 = 110 = 120
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          Wagon Wheels
          </span>
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          <span>
          Back In The Saddle Again
          </span>
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= 200 = 185 = 175 = 160
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